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A - CODIRFE | CODHER | EAWE | B BBk | o [ BEWRE| 88# | #RE N
el 7K BRREE | gy | R | e/l | BB | /L) | BORE | /L) | BRE | @/m) | FE
AZKG Qb)) BHEABRA A JRKHER 12.02 200 4. 62 20 — — 10. 96 30 0.00 iz
L P S 3R T 29I A IR A =] SRR M35 4. 86 100 1. 64 20 — — — — 1.85
R T (F0 ARAA JRKHER 12 14. 30 500 0.03 45 1. 40 8 25. 27 70 50. 95
TUE K 55 KA IR THE A F KRR 20. 43 30 0.12 2 0.11 0.4 13.72 15 217. 38
BB (EHD ARAA BB 58. 45 500 0.01 45 0.48 8 13.35 70 149. 32
EIRRHE G ARAA LRI % 12. 12 500 0. 04 45 0. 30 8 — — 83. 59
Wi ZAAR AR (ERXO JEIKHEBUE 48. 40 500 2.33 45 — — — — 3.16
TR T IE K A BR A JEIK 12.98 40 0. 05 2 0.20 0.4 12. 53 15 2971. 07
Ly 75 5 A R 55 A PR JRKH 11.09 40 0.36 2 0.07 0.4 8.21 15 1100. 51
M BN REE BT JEIKHEBU 36. 95 250 5. 04 45 — — — — 5.70
EARER CCEBXD) PR KHER 23.33 250 21.05 200 — — — — 8.27
R PN KRR 11. 74 250 0. 04 100 — — — — 21. 44
H IR R R (EZKEE X)) JEIKHEBUE 36. 42 250 26. 06 114 — — — — 14. 80
IR 2 S IR TUEA ALK A F KRR 1.30 20 0.22 1 0. 00 0.2 — — 14. 25
PG SR R B A PR A ] PR HER 2.15 20 0.02 1 0.01 0.2 11.73 25 0.00
WK EERRMEEA R A A SRR 20.19 30 1.15 1.5 0.03 0.3 7.29 15 35. 45
WWKPEIARHAREE A R A A JRIKH 10. 92 40 0.42 2 0.23 0.4 6. 79 15 424. 62
WL KL TG KA AT R 23 7] KRR 3.73 20 0. 02 1 0.01 0.2 — — 36. 37
Ll 7 30 35 K REVR AT BR A 7 JEAKHERR — 20 — 1 — — — — — Fiz
L SN G 4 R BT A ] A=K 17. 31 30 0.01 1.5 — — 5.15 15 123. 84
L P LR G A IR BT A 7 A TETE K 29. 50 40 0.05 2 — — — — 37.52
FH 3 22 B /K AR AT PRA 7] JEAKH E 8. 17 40 0. 39 2 0. 30 0.4 7.49 15 902. 79
FH S R b BE V5 K b 2 ) PRKH 11.48 40 0. 08 2 0. 03 0.4 11. 55 15 173. 97
LL PG I0 TG K AL BEAT R A W] KRR 3.42 40 0.30 2 0. 04 0.4 12.33 15 218. 63
P 39 ] o & FELA B B A W) PR HER 7.80 30 0.12 1.5 — — — — 96. 92
FH3 AL N R R B SRR 63. 98 250 32.05 45 — — — — 5.71
L PE kI AR A ] JEIKHEBUE 6.07 30 0.07 1.5 — — — — 26. 30
FH3EL 5t & KTS PR B R A A KRR 10. 53 40 0.12 2 0.33 0.4 13. 26 15 295. 32
L7 22 AR RS A A A PR A = H AR 7 A F PRIKHEBU 2.47 30 0.23 1.5 — — 12.76 25 187. 44
Ly 75 4 AL T A BR 54T /A 7 SRR 2. 06 30 0.11 1.5 — — 7.31 25 27.72
B ) 1 B2 UL R RS 404k T 45 FR 8 7] JEAKHERR — 30 — 1.5 — — — — — =iz
B )1 g K AR AT PR A ] JEAKH E 15. 53 40 0. 05 2 0.12 0.4 7.82 15 205. 75
Ly 7 o 1] 5 222 ) SR B A BR A ] JEIKHEBUE 1.56 20 0.03 1 — — — — 13. 38
L PE M RIS Sl A B A 7] KRR 2. 72 20 0.11 1 — — — — 19. 61
Ll P EE M R R A R A R A A PR HER 2.73 20 0.01 1 — — — — 109. 76
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T BE e 2% )i A A G B A B RIS 43 2 KRR 3.26 30 0. 04 1.5 — — — — 32.10

IR KR I 4 A R s ) AT 7K A B3 HE il 2.78 20 0. 04 1 — — — — 173.90

IR S A A7 PR 2 A U KRR 5.51 40 0. 02 2 — — — — 138. 21

IR SR AR A PR 2 A U 2 R /K HER I 13. 04 40 0. 02 2 — — — — 14. 16

T I HE R I 4 A PR > = AT SRR K HEAR 8. 04 40 0.01 2 — — — — 42. 50

Ll PG 22 AERHS A AR A R A w R BRI 70 A F JRKEHED 3.95 20 0. 05 1 — — — — 15. 55
Ll P 2= A IR PR DT AE A ] KRR 2.53 40 0. 03 2 — — — — 5. 36

Ll PG 2= AR T R T E A Fl 5 K A 4 A H] JRKH 15. 49 40 0.49 2 0.03 0.4 13. 49 25 300. 15

T B4 I 2 % il i £ A 48 S RE VR AL Tl v A PR AT 1K HE O 13. 50 30 0. 05 1.5 — — — — 158. 88
B e 2 I 2 24 i SR AR B Re AL T P A FR 54T 2% KA 2. 92 30 0. 08 1.5 — — — — 2.18

L7 = AE R A A R A =4k T4 A A KRR 8.91 80 12. 28 25 — — 18. 09 35 106. 42

WP RFEERKENIEA R AR~ KA 11.73 40 0. 34 2 — — 12. 62 25 104. 99

L P RS A Ay A B SA)— KRR 7.90 30 0.37 1.5 — — 7.17 25 109. 74

Ll PG 22 AR T B BAT A 7 PR HER 22. 30 80 4.13 25 — — 23. 87 35 172.51

L P RIFERKEWIEE R AR =) SRR 11. 02 40 0. 08 2 — — 11.31 25 65. 37

L PG 2= AR R AV AR A R A w3 iR s A F JEIKHEBUE 15. 14 40 0.21 2 — — 7.67 30 163. 51

TS — AR S T KA 3 JEIK 14. 17 40 0. 06 2 0. 04 0.4 10. 41 15 295. 51

Ly P 7K 35 R K AL BEA R A = JEKH O 26. 11 40 0.12 2 0.14 0.4 9.81 15 841. 52

RAT IR & A BR A ] JRKHER 12. 26 40 0.25 2 0.27 0.4 — — 21. 16

eI e A G S A R IE L P4k AR A A SRR 12. 00 40 0. 06 2 — — 17. 74 25 117. 21

L P A TA R SR A A PR KHER 7.23 40 0.25 2 — — 11.22 25 241.99
L P =2 AR PG TR A A IR A A KRR 0.91 40 0. 05 2 — — — — 0. 62
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